MATHS

BOOKS - TARGET MATHS (HINGLISH)

BOARD QUESTION PAPER: MARCH
2019

A Solve The Following Questions Any Four

1.1f AABC~APQR and / = 60°, then /P ?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kfcFCRUZqgLo

2.In right-angled AABC,if /B =90°,AB =6

, BC=8, then find AC.

o Watch Video Solution

3. Write the length of largest chord of a circle

with radius 3.2 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_kfcFCRUZqgLo
https://dl.doubtnut.com/l/_q0cEB21vSjzz
https://dl.doubtnut.com/l/_3k2DvEQ3GrMw

4. From the given number line, find d(A, B):

A B
; _ 1

° Watch Video Solution

5. Find the value of sin 30° + cos 60°

° Watch Video Solution

6. Find the area of a circle of radius 7 cm.

l @ Watch video Solution


https://dl.doubtnut.com/l/_68U9EJfCVynS
https://dl.doubtnut.com/l/_yGUJ2unNdGoh
https://dl.doubtnut.com/l/_3GFixZlhcUUh

B Solve The Following Questions Any Two

1. Draw seg AB of length 5.7 cm and bisect it.

o Watch Video Solution

2. In right-angled triangle PQR, if
/ZP =60°, ZR = 30° and PR =12, then find

the values of PQ and QR.

l o Watch Video Solution



https://dl.doubtnut.com/l/_3GFixZlhcUUh
https://dl.doubtnut.com/l/_IZCk3BDxLuPX
https://dl.doubtnut.com/l/_18ygQylEucjc

3. In a right circular cone, if perpendicular
height is 12 cm and radius is 5 cm, then find its

slant height.

o Watch Video Solution

A Choose The Correct Alternative

1. AABC and ADEF are equilateral

triangles. If A(AABC): A(ADEF) =1:2


https://dl.doubtnut.com/l/_18ygQylEucjc
https://dl.doubtnut.com/l/_FRDUOSDH55Ar
https://dl.doubtnut.com/l/_Ash4jw72FQfI

and AB=4 , then what is the length of DE ?

A 24/2

B.4

C.8

D. 4+/2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ash4jw72FQfI

2. Out of the following which is a Pythagorean

triplet ?

A. (5,12,14,)

B.(3,4,2)

C.(8,15,17)

D. (5,5, 2)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_BIBvVfU3gRqH
https://dl.doubtnut.com/l/_FRY1bcMVomPg

3. ZACB is inscribed in arc ACB of a circle

with centre O. If LZACB = 65°, find m(arc

ACB).

A.130°

B.295°

C.230°

D. 65°

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_FRY1bcMVomPg
https://dl.doubtnut.com/l/_1tVNDfvPDdUq

4,1 + tan° 0 =?

A.sin’ 0

B.sin’ 0

C. cos ec’0

D. cot? 0

Answer:

° Watch Video Solution

B Solve The Following Questions Any Two


https://dl.doubtnut.com/l/_1tVNDfvPDdUq

1. Draw a tangent at any point R on the circle

of radius 3.4 cm and centre at P ?

o Watch Video Solution

2. Find slope of a line passing through the

points A(3, 1) and B(5, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_eJA7TGVifohK
https://dl.doubtnut.com/l/_o6EesQlJb17J

3. Find the surface area of a sphere of radius

3.5cm.

o Watch Video Solution

A Complete The Following Acitivites Any Two

. In AABC, ray BD bisects ZABC.
A—-D-C,sideDE | |side BC,A—-E—-B
AB AFE

Prove that, B_C = 5


https://dl.doubtnut.com/l/_QRMrQ1N3gvta
https://dl.doubtnut.com/l/_dA2jxtgytddD

Complete the activity by filling the boxes.
A

B C

In AABC, ray BD is the bisector of ZABC
. —— = 0O...(I) (By angle bisector

theorem)

In AABC,seg DE | | side BC

JAE _AD
BB = oD
 AB

0  EB



https://dl.doubtnut.com/l/_dA2jxtgytddD

o Watch Video Solution

2.Inscribed Angle Theorem

The measure of an inscribed angle is half of
the measure of the arc intercepted by it.

Given : In a circle with centre O, ZBAC is
inscribed in an arc BAC. ZBAC intercepts are
BXC of the circle.

1
To prove : m/BAC = Z M (arcBXC).

o Watch Video Solution



https://dl.doubtnut.com/l/_dA2jxtgytddD
https://dl.doubtnut.com/l/_aHPxTRwsmvau
https://dl.doubtnut.com/l/_zOKivxhzBM3X

3. How many solid cylinders of radius 6 cm and
height 12 cm can be made by melting a solid
sphere of radius 18 cm?

Activity: Radius of the sphere, r =18 cm

For cylinder, radius R =6 cm, height H=12 cm

Number of «cylinders can be made

Volume of the sphere
]

7T’I"3

[]
%x18><18><18

[]

oo |

=

o Watch Video Solution



https://dl.doubtnut.com/l/_zOKivxhzBM3X

B Solve The Following Questions Any Two

1. In right angled AABC, BD 1 AC.

AD = 4,DC = 9, then find BD.

A

If

o Watch Video Solution



https://dl.doubtnut.com/l/_zG4atYFsJSsa

2. Verify whether the following points are
collinear or not:

A(1,-3),B(2,-5),C(-4,7).

o Watch Video Solution

25
3.I1f secd = 0 then find the value of tan 0

o Watch Video Solution

Solve The Following Questions Any Three


https://dl.doubtnut.com/l/_n4BkOXHUoee9
https://dl.doubtnut.com/l/_Rqx2QLkeQEjo
https://dl.doubtnut.com/l/_U7FdIzf8md5E

1. In APQR ,seg PM is a median , PM=9 and

PQ° + PR? = 290. Find the length of QR.

° Watch Video Solution

2. In the figure, O is the centre of circle
ZQPR = 70° and m (arc PYR) = 160°, then
find the value of each of the following :

(@) m (arc QXR)

(b) ZQOR


https://dl.doubtnut.com/l/_U7FdIzf8md5E
https://dl.doubtnut.com/l/_VErb7KOUc50J

(c) ZPOR

° Watch Video Solution



https://dl.doubtnut.com/l/_VErb7KOUc50J

3. Draw a circle of radius 3.5 cm . Take a point P
outside the circle at a distance of 7 cm from
the centre of the circle and construct a pair of

tangents to the circle from the point.

o Watch Video Solution

4. When an observer at a distance of 12 m
from a tree looks at the top of the tree, the
angle of elevation is 60°. What is the height of

the tree?

| & I


https://dl.doubtnut.com/l/_YA3nBtamZmU7
https://dl.doubtnut.com/l/_irKm95cKqIOA

| ¥ Watch Video Solution |

Solve The Following Questions Any One

1. A circle with centre P is inscribed in the A

ABC. Side AB, side BC and side AC touch the
circle at points LLM and N respectively. Radius

of the circle IS r. Prove that:


https://dl.doubtnut.com/l/_irKm95cKqIOA
https://dl.doubtnut.com/l/_SJ6P2KvnO6dm

1
A( & ABC) = 5(AB + BC + AC) x .

o Watch Video Solution

2. In AABC,ZACB =90°, seg CD L

side AB and seg CE is angle bisector of ZACB


https://dl.doubtnut.com/l/_SJ6P2KvnO6dm
https://dl.doubtnut.com/l/_vyN0XqQcF4oK

AD  AF?
BD  BE?

Prove :

C B

o Watch Video Solution

3. Show that the points (2,0), (-2,0) and (0,2)

are the vertices of


https://dl.doubtnut.com/l/_vyN0XqQcF4oK
https://dl.doubtnut.com/l/_B0c5EagH9DRF

a triangle. Also state with reason the type of

the triangle .

° Watch Video Solution

4. In the figure, LJ XLMT is a rectangle.
/M = 21em, XL = 10. 5 cm. Diameter of the
smaller semicircle is half the diameter of

larger semicircle. Find the area of non-shaded


https://dl.doubtnut.com/l/_B0c5EagH9DRF
https://dl.doubtnut.com/l/_U5V6mRq2FysJ

region.

X

AN

| &

L 21 ¢cm M

o Watch Video Solution



https://dl.doubtnut.com/l/_U5V6mRq2FysJ

